PROPERTY D SPRING 2014 
ESTATES & FUTURE INTERESTS EXAM:  

QUESTIONS, ANSWERS, AND EXPLANATIONS
The questions and answers are laid out below.  Correct answers are in bold type.  My comments are in italics. The names of students (from Redwood, Shenandoah & Yellowstone) should be obvious.

(1) Which of the following was a finite present possessory interest “at common law”?

(a) A grant “to Julia in fee.” At common law, you had to use the words “and his/her heirs” to create a fee simple. The default estate was a life estate, so as in the Ernie and Bert problem we did in class, this grant would have created a life estate in Julia, which is a present finite estate.  
(b) A grant “to Mark for 99 years.”  A term of years is a finite estate no matter when it took place because it has a defined end-point (even where, as here, it is likely to last well past the end of Mark’s life). 

(c) A life estate pur autre vie.  This answer is a finite present possessory interest no matter when it took place.
(d) All of the above.  93.5% of you got this right.

(2) Which of the following is not a type of future interest initially held by the grantor?

(a) Right of entry. 
(b) Right of reverter.  There is no such interest.  95.2% of you got this right, making it tied for the third easiest question on the test.

(c) Reversion.
(d) Possibility of reverter.
(3) Which of the following conditions could be a permissible limitation on the grant of a fee simple? 

The materials state that grants conditioned on race-based restrictions and total bans on alienation are void as against public policy.  As we noted in class, a grant conditioned on the grantee getting a divorce is also void, but a grant in which the grantee loses the interest if s/he divorces appears to be permitted. 
(a) That the grantee never sell the land.

(b) That the grantee not divorce her present husband.  This was the question I promised where, to see how carefully you were reading, I changed it simply by adding the word “not” to this answer.  Without that word, this condition also would be void and the answer would be (d). 51.6% of you got this right, making it the third hardest question on the test.

(c) That the owner of the land never be a member of a particular race.

(d) None of the above.  41.9% of you chose this answer, which was correct in the earlier version of the question.
Questions 6-9 are based on the following information:  In 1995, Ashley dies leaving a valid will that says: “I leave Schindler-Acre to Gina so she always has a place to live so long as Gina uses the property for residential purposes, then to my nephew Mac and his heirs if Mac reaches the age of 21.  I leave all my other property to my friend Patrick.”

There have been many versions of this set of questions based on Review Problem 3R.   
(6) Which of the following arguments supports a claim that Gina’s interest is a defeasible fee simple (rather than a defeasible life estate)?

(a) The presumption that, absent clear evidence of intent to the contrary, an interest is a fee simple.  This is part of White v. Brown.  96.8% of you got this right, making it the second easiest question on the test.

(b) The condition regarding residential use restricts Gina, not Gina’s heirs. If anything, this suggests a life estate, since the restriction only lasts as long as Gina is alive.
(c) The presumption that a will disposes of all of the testatrix’s property. This presumption, also from White v. Brown, doesn’t support either position here because, unlike the grant in White v. Brown, the will here contains a residuary clause that disposes of all of Ashley’s property regardless of how the grant is interpreted. 

 (d)  All of the above.

(7) Which of the following arguments supports a claim that Gina’s interest is a defeasible life estate (rather than a defeasible fee simple)?

(a) The grantor’s use of the word “then” rather than “but” (to introduce Mac’s interest) suggests that the interest is a remainder rather than an executory interest. We discussed this argument in connection with interpreting ambiguous grants of this type.
(b) If Gina’s interest is a fee simple, she can sell it much more easily and she would not “always” have “a place to live.” This is similar to one of the dissent’s arguments from White v. Brown.
(c) The grantor used “and his heirs” when he wanted to create a future interest in fee simple in Mac. This is one of the dissent’s arguments from White v. Brown.
(d) All of the above. 93.5% of you got this right.
Questions 8-9 are based on the same grant as Questions 6-7 plus the additional information below:  After Ashley's death, Gina converted Schindler-Acre into a Bed-and-Breakfast Inn, which she lived in and operated.  Before Mac turned 21, Gina died without leaving a will.  

(8) Assuming a court views Gina’s interest as a defeasible life estate, and finds that Gina’s Inn did not violate the restriction of residential use, who owns the property at Gina’s death?

In this scenario, initially Gina had a life estate determinable, Mac had a contingent remainder, and Patrick held a reversion (from Ashley’s will) and there was a possibility of reverter (whose owner we need not determine).  The condition can only be violated by Gina, so once she dies, the possibility of reverter fails.  If the state destroys contingent remainders, Patrick has a fee simple absolute.  If not, Patrick has a fee simple on executory limitation and Mac has a springing executory interest.

(a) Patrick, in fee simple on executory limitation, if the jurisdiction does not destroy contingent remainders.   95.2% of you got this right, making it tied for the third easiest question on the test.

 (b) Patrick in fee simple determinable, if jurisdiction destroys contingent remainders. This is wrong because the condition ends with Gina’s death.
 (c) Ashley’s heirs in fee simple on executory limitation, if the jurisdiction destroys contingent remainders. This answer is wrong on two counts.  First, Ashley’s reversion passed to Patrick.  Second, if the jurisdiction destroys contingent remainders, the remaining interest is fee simple absolute.
(d) Gina’s heirs in fee simple absolute, if the jurisdiction destroys contingent remainders. If the court finds Gina’s interest to be a life estate, her heirs have no interest that survives her death.
(9) Assuming a court views Gina’s interest as a defeasible fee simple and finds that Gina’s Inn violated the restriction of residential use, which of the following would be relevant to determining who owned the estate?

When the condition was violated, it automatically passed to the holder of the possibility of reverter because of the “so long as” language and the complete absence of any language that looks like condition subsequent.  The possibility of reverter would have passed through Ashley’s will to Patrick only if they are devisable in the jurisdiction.  Otherwise, it will pass to Ashley’s heirs, who cannot include Patrick, who is a “friend.”

(a) Other cases interpreting “residential purposes.” This is incorrect because the problem says that the court already has found that the condition was violated, which makes further discussion of this type of case irrelevant.
(b) Whether possibilities of reverter are devisable in the jurisdiction. As noted, this will determine whether Patrick can get the property.  This is an application of the discussion we had about Mahrenholz. 87.1% of you got this right.

 (c) Whether the jurisdiction destroys contingent remainders. If the court finds Gina’s interest to be a defeasible fee, there can be no remainders in the grant to destroy.  
 (d) The presumption in favor of fee simple on condition subsequent. The presumption doesn’t apply where the grant is so clearly in the form of a fee simple determinable.

Questions 10-12 are based on the following information:  In 1990, Brandon leaves Schiff-Acre in a will, “to my wife for life, then to my son Jason and his heirs, but if Jason is unmarried five years after my wife’s death, to my daughter Katerina and her heirs.”  The will then leaves all Brandon’s other property to Katerina.

(10) Assuming the condition is valid, which of the following interests exist at the time of the grant?

The wife has a life estate. Jason has a vested remainder, because there is no precondition to his taking possession of the property except the termination of the prior life estate. The vested remainder is not “subject to divestment” because it cannot divest Jason until three years after Jason has taken possession. Thus, Jason has a vested remainder in fee simple on executory limitation and Katerina has a shifting executory interest
(a) Reversion in Katerina. There is no reversion because Jason’s remainder is vested.

(b) Alternative contingent remainders in Jason and Katerina.  The interest in Katerina cannot be a remainder because it cannot become possessory until three years after the end of the life estate. The interest in Jason is not contingent, 

(c) Vested remainder subject to divestment in Jason.  This would only be true if it were possible for Caterina’s interest to cut off Jason’s before he took possession.

(d) Vested remainder in fee simple on executory limitation in Jason.  79% of you got this right.
(11) Which of the following arguments would not be relevant to the question of whether the condition should be considered void as against public policy?

(a) Jason was 10 years old at the time Brandon died.  If this were true, and the wife died immediately after, the condition would force him to marry by age 15 to retain the property.  A court is likely to view that as against public policy and in some states it may be unlawful.

(b) Jason is not prevented from marrying the person of his choice.  As we discussed in class, the argument for unreasonableness probably is strongest if it involves breaking up an existing relationship or unduly narrowing the number of possible spouses.  There is no evidence that either is true here.

(c) At the time Brandon died, Jason lived in a small town.  In 1990, it seems unlikely that this fact would mean “Find a partner in five years” is unreasonable.  Today even people who live in small towns usually come in contact with lots of other people in the course of work, travel, community events, etc. Plus there’s always E-Harmony.com.  91.9% of you got this right.

(d) The rest of Brandon’s wife’s life plus five years is a reasonable amount of time to find a spouse.  Given that Shapira focuses on the reasonableness of the restraint and finds seven years sufficient to find a Jewish woman, you could certainly argue that five years plus the mother’s life is a reasonable time to find a wife when the grant places no restrictions on which women Jason may marry. 

(12) Suppose Jason marries Priscilla in 1995.  In 1996 Jason dies, leaving all his property to Priscilla in a valid will.  In 1998, Brandon’s wife dies.  In 2003, on the fifth anniversary of Brandon’s wife’s death, Katerina sues Priscilla for title to Schiff-Acre.  Which of the following arguments is not relevant to who owns Schiff-Acre?

(a) Jason and Priscilla have a child Ryan, who was one of Jason’s heirs under the relevant intestacy statute.  The grant to “Jason and his heirs” gives Jason a remainder in fee simple but creates no rights in the heirs.  Jason can and did leave his vested remainder to Priscilla in his will, so Ryan has no claim. 91.9% of you got this right.

(b) Jason is literally unmarried in 2003, because Priscilla cannot be legally married to a dead person.  This would seem to be a valid argument from the literal language of the grant.  The grantor could have said “has never been married” but instead chose “is unmarried.” About 25% of 2001 students chose this as irrelevant. You should not shy away from literal arguments; lawyers make them all the time.
(c) Brandon’s intent regarding Jason’s acts was satisfied because Jason got married within the relevant time period and stayed married until his death.  Grantor’s intent arguments are important in interpreting ambiguous grants.  Here, this seems a reasonable interpretation of the language.

(d) The condition was void as against public policy.  If the court finds the condition void, Katerina will take nothing. 

Questions 13-17 are based on the following grant:  In 2005, Katherine, while alive, grants Shawn-Acre “to my daughter Lauren & her heirs on the condition that she periodically attend a Presbyterian Church service, and if at least three months pass in which she fails to so attend, the property is to be retaken.”
This was a new grant, including a condition that is arguably a bigger imposition on religion than some I’ve used in the past.  Qs 13-14 draw heavily from prior questions on the distinction between determinable interests and those on condition subsequent
(13) Assuming the condition is valid, all of the following arguments support characterizing Lauren’s interest as a fee simple determinable (as opposed to a fee simple on condition subsequent) except: 

(a) The phrase “is to be retaken” suggests that the future interest holder has no discretion about whether to act.  This is clearly stronger language than “may” or “can”, which are typical of the fee simple on condition subsequent.
(b) The grant appears to be an attempt to punish the grantee for not adhering to the condition, as opposed to ensuring that the property is used for a particular purpose.  This is factually correct, but Mahrenholz says it supports treating the grant as a fee simple on condition subsequent. 71% of you got this right, making it tied for the fifth hardest question on the test.

(c) It will be relatively easy to determine whether or not Lauren attended a Presbyterian Church service during any three month period.  For the condition to operate automatically, you need to be able to determine a clear moment when it has been violated.  Here, although “periodically” is vague, the reference to “three months” provides the clear moment. 17.7% of you chose this answer, perhaps because you focused on “periodically.”
(d) There is a condition in the first clause of the grant. The paradigm form for a fee simple on condition subsequent has the condition only in the second clause.
(14) All of the following arguments support characterizing Lauren’s interest as a fee simple on condition subsequent (as opposed to a fee simple determinable) except: 

(a) Most states have a presumption in favor of the fee simple on condition subsequent. This is true.

(b) Because Katherine was alive at the time of the grant, she must have intended to exercise discretion as to whether to retake Shawn-Acre. Nothing in the materials suggested that this is a relevant consideration.  The grantors were alive in Mahrenholz, and the court still found the ambiguous grant to be a fee simple determinable. Moreover, if the title reverted back to her, she could always regrant it to Lauren if she thought it appropriate. 72.6% of you got this right.

(c) The grant is structured in two parts. This is the typical form for a fee simple on condition subsequent.
(d) The grant uses the phrase “on condition that” as opposed to language related to time passing.  This is the typical language for a fee simple on condition subsequent. Somewhat surprisingly, 16.1 % of you chose this answer, perhaps because you thought you were sure of the other three before you read it.
Questions 15-16 draw heavily on prior questions on the validity of conditions, particular those related to religion.  

(15) Which of the following arguments support finding the condition void as against public policy:
(a)  The grant does not create a “gift over.”  Both White and Shapira treat as relevant to determining the grantor’s intent the question of whether the grantor created a “gift over” to follow the interest at issue in the case.  However, both those cases were interpreting wills and so the grantors would have no other opportunity to make their intent known.  Here, Katherine is still alive.  Unlike White, she has no need to give away the future interest immediately.  Unlike Shapira, she could demonstrate a larger religious mission in a subsequent will or by what she does with the land if it comes back to her.  Also, because Lauren has to accept or reject the gift immediately (and can negotiate with her mother for different terms) it does not appear to be the kind of “in terrorem” condition Shapira worried about.
(b)
There are only three Presbyterian Churches within driving distance of Shawn-Acre.  This kind of argument was relevant in Maddux and Shapira because the issue was whether the condition unduly restrained marriage by limiting the grantee to too few partners.  Here, Lauren presumably does not need to have several dozen churches to choose from. 
(c)  Lauren does not share her mother’s Presbyterian religious beliefs and so having to actually attend the religious service is a particularly great imposition on her religious freedom.  Although technically the grant addresses her conduct and not her beliefs, sitting through a religious ceremony when you don’t believe in it seems a much greater conflict with your beliefs then, e.g., lighting a candle in a particular church. Also, there was no claim in Shapira (where they tried almost everything they could) that the grantee had actively rejected Judaism and so the marriage would be counter to his beliefs.  80.6% of you got this right. 

(d) All of the above.

(16) Which of the following arguments support finding the condition valid and enforceable: 

(a)  If Lauren does not want to adhere to the condition, she need not accept the gift. This is always a plausible argument in response to a claim that the condition is unduly burdensome. I think it is even more persuasive when the grantor is alive and might be convinced to change her mind about the restriction.
(b) Katherine has strong religious beliefs and encouraging the continuation of her religious legacy should be seen as a legitimate interest. We discussed in class that this seemed to be a plausible policy argument.
(c) The time and effort required to attend a ninety-minute service once every three months is not unduly burdensome. Certainly this fact makes the condition more likely to be upheld than a requirement that Lauren go to church daily or even weekly. 
(d) All of the above. 98.4% of you got this right, making it the easiest question on the test.

(17) In 2011, Katherine is still alive, and Lauren sells her interest in Shawn-Acre to the Giles-McCarten Development Company.  Assuming the original grant to have been a fee simple on condition subsequent, and that the condition is valid, what interest does Katherine then have? 

Question 17 is a new question testing what happens to conditions when a defeasible fee is transferred. If the grant to Lauren is a fee simple on condition subsequent, then Katherine initially would have had a right of entry. Since the condition is valid, Katherine’s interest would only fail if the condition could no longer be violated.  Here, the condition on Lauren does not involve her use of Shawn-acre as its owner, so it survives until her death.   Thus, although you might question why GMDC purchased Shawn-Acre, they take it subject to the condition and Katherine retains her interest.

 (a) Right of entry.  71% of you got this right, making it tied for the fifth hardest question on the test.

 (b) Shifting executory interest.  This would be true if the future interest had been created in a grantee.
(c) Nothing.  24.2% of you chose this answer, which would be true if the condition were void or if Lauren had died.  
(d) Possibility of reverter.  This would be true if Lauren’s interest had been a fee simple determinable.
Question 18 is based on the following grant:  Brian grants Taraf-Acre “to Stephanie for life or until she divorces, then to Jessica and her heirs.”
This is a new problem. The grant, which we looked at in class, is from page 79 in the Workbook, Stephanie has a life estate on executory limitation because the future interest is held by a third party.  Jessica holds a shifting executory interest cutting off Stephanie’s life estate if Stephanie divorces, plus a vested remainder to take at the end of the life estate if Stephanie never divorces. As we noted, the Workbook says these merge into the “larger interest,” which is the vested remainder. 

(18) Which of the following interests exist at the time of the grant?

(a) Brian has a reversion.  This is incorrect, because Jessica is certain to get the property when Stephanie’s interest ends, so Brian has given away all possible rights. 
(b) Stephanie has a life estate determinable.  This would be correct if the future interest was held by the grantor. 37.1% of you chose this answer.
(c) Jessica has a shifting executory interest plus a vested remainder that presumably merge into the vested remainder. 35.5% of you got this right, making it far and away the hardest question on the test. 

(d) None of the above. 25.8% of you chose this answer, presumably because (c) has never shown up as an answer on a prior test and you didn’t recognize it. 
Question 19 is based on the following grant:  In 2001, Faris conveys Pan-Acre “to Stephen for life, then to Stephen’s heirs, but if Stephen fails to graduate from law school, then to Ivana.”

This is tricky because you cannot know for sure that Stephen will not graduate from law school until he is dead. Ivana’s interest cannot become possessory until Stephen’s death.  Thus there are two possibilities at Stephen’s death:  he has graduated law school, and the property goes to his heirs (who are ascertainable at that moment) or he has not graduated law school and it goes to Ivana.  Thus, as written, there are alternative contingent remainders.

 (19) [Reading the grant as written], which of the following interests would be created:

(a) Life estate on executory limitation in Stephen.  Ivana’s interest cannot cut off the life estate because her condition cannot be met while Stephen is alive.  

(b) Contingent remainder subject to divestment in Stephen’s heirs.  There is no such thing as a contingent remainder subject to divestment. The phrase “subject to divestment” only modifies “vested remainder.”
(c) Shifting executory interest in Ivana.  An executory interest must cut off a vested interest.  Here, as noted, Ivana’s interest cannot cut off the life estate and the prior interest is contingent, not vested.  Thus, as in Problem 4M, Ivana has a contingent remainder. 35.5% of 2014 students picked this answer.

(d) Reversion in Faris.  This is necessarily the case if there are alternative contingent remainders. Note that even if you read Ivana’s interest as an executory interest, there still would have to be a reversion because Stephen’s heirs have a contingent remainder while Stephen is alive. 46.8% of you got this right, making it the second hardest question on the test. 

Questions 21-23 are based on the following information:  In 1975, Lyndsay granted Hunter-acre “to Michelle for life, then to Michelle’s children, but if Michelle is not survived by any children, then to Nicole and her heirs.”  In 1977, Michelle has her first child, Paula. In 1999, Michelle is still alive, but Paula dies, leaving all her property in a valid will to her friend Shari.

The grant is the same as that in Problem 3M and the many sample questions that have followed it..  

(21) In 1975, the interest in Michelle’s children is a

(a) Vested remainder subject to divestment. The interest can’t be vested because no children are born.  
(b) Vested remainder subject to open.  Same as (a).
(c) Contingent remainder. The interest is contingent because no children are born yet. 90.3% of you got this right.
(d) Contingent remainder subject to divestment. There is no such thing; “subject to divestment” only modifies “vested remainder.”
(22)  When Paula dies, what happens to her interest?

When she is born, Paula gets a vested remainder subject to open subject to divestment.  The interest is not (by its terms) dependent on Paula surviving Michelle.  Nicole only takes over (divesting Paula’s interest) if Michelle is survived by no children at Michelle’s death.  Since Michelle is still alive and can have more children, Nicole’s interest has not vested.  Paula’s interest survives Paula’s death (at least until Michelle’s death) and passes through her will to Shari.
(a) It passes to her heirs. Paula can pass a vested remainder to anyone she wants at her death.  Because she had a valid will, it will not pass through intestacy.  
(b) It is destroyed.  The interest can only be destroyed by Nicole’s interest vesting, which cannot happen until Michelle’s death.  25.8% of you chose this answer, which is a little disappointing because we did it in class and it has been on several tests and because it is inconsistent with the correct answer to #23, which almost all of you got correct.
(c) It passes to Shari. 69.4% of you got this right, making it the fourth hardest question on the test.
 (d) None of the above.  

(23)  Which of the following events would make Nicole’s interest fail?

(a) Michelle having another child who survives Michelle’s death. Nicole’s interest only fails if one or more of Michelle’s children survive Michelle. 95.2% of you got this right, making it tied for the third easiest question on the test.

 (b) Nicole dying before Michelle. The grant does not make Nicole’s interest contingent on her surviving Michelle.  
(c) Nicole dying intestate without heirs. This makes Nicole’s interest pass to the state, but it would not fail (which means “cease to exist” in this context).
(d) All of the above.  

(24) Which of the following is true in all American jurisdictions today?

(a) Omitted. 
(b) It is unnecessary to use the language “and X’s heirs” to create a fee simple absolute.  85.5% of you got this right, making it the hardest/easiest question on the test.
(c) Possibilities of reverter are only transferable by inheritance unless released to the holder of the underlying fee. As we discussed in the context of Mahrenholz, this is a rule that exists in Illinois and some other states, but not everywhere.
 (d) All of the above. 
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